o(d @) (rad)

=107

107

105

Ratio

[y

0

[T
N 4

|

=

0.95!

1

2

3

TP n (PCA to beamline)

a(d cot(d))

Ratio

105— t ﬂ 1 -------- f , .....
BL 8
+ +*+"+#+

,_.
S
L

0.95!

0 1 2 3
TP n (PCA to beamline)

—=— DQM_mkFit_TT_baseline_6iter

—— DQM_mkFit_TT_RetrainV2_WP1_6iter

5

>

=]

=2

3 -

1072 = { S i
910;%- e i | N | | N
I 3 i ] !

o L f ] :
]__— e -. e | gq -
0.95L ; : ; ; ; ]
=3 -2 -1 0 1 2 3

o p/p.)

H
S
o

107 i

0

N eaassnans
N : L
I
iR

1

2

3

TP n (PCA to beamline)

z

oo a,) (cm)

1072k=:

iy

|
W[

-2

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


